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RGA-BHE 30 x 30 (B45) | 300 660 723 190 393
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RGA-BHEL 30 x 60 (Hi&B) | 600 960 | 1023 | 200 497
RGA-BHEE 30 x 70 (Hi&B) | 700 | 1060 | 1123 | 300 524
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IZECE ZLY)
iE il i % B4 # =
RGAfRI% B300-H600~800 (#58) | # 1.00
BELAIL 1:3 m’ 0.009
HEEH RC-40 m’ 0.57

410
210
10 [65_ 300 5510
i || | -Zh (524
= =4 g
o
e
=
- g
- o
2
N—
3
4 | |
\\\ /,’
o .
I 1 8
00 e
00 (000N~
] o H H1 H2 H3 | B= (kg)
RGA-FHE 30x 90(HH&ER) | 900 | 1260 | 1323 | 200 629
RGA-BFZL 30 100 (#4%F) | 1000 | 1360 | 1423 | 300 662
RGA-BFZL 30x 110 (#&R) | 1100 | 1460 | 1523 | 400 694
RGA-BFZL 30 120 (##F) | 1200 | 1560 | 1623 | 500 727
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